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25.8 grams of oxygen gas are added {0 €5. 4 grams of hydrogen chloride gas in the following
reaction:

4 HClg) + 10 (g ~> 2 Cly (g) + 2 H01 ()

a. Determine the limiting reactant

b. Determine the mass (in g) of each of the products that are formed in the reaction.
c¢. Determine the excess reactant and how many grams are left after the reaction.

Id 3 {’g\‘
7 4 - o & {“" :” £
Shep g 0.5 2 (it e 3237 L 354} 7
UL R A CEY L (RO I94(35%) iz“mwf{

v L
o efid
3 (o e 3 o,
O 259 f1mb0 o | .
2 P () ottty
il L H
s LR ¥ HOL ST
i"’ék—i,. { {‘:3;"_ {i ‘;*},‘{?WH{#&

";L‘I‘# é« "
2 Qéfim* Hﬁfé)ffy [ '3 - .
' i "gﬁ e f"m-r- {; $£ "Eé’"} "Fhﬁ }?{{éf(&w #%P
ﬁ}"ﬁj-t.;,}-’?‘}ii . ji,.g % fj,.,gsg fu‘ £ ?w»{g/*g, Iz {i 7’ h}

S— ) s
e Ly o complebely cerct 4

‘S SLE i T gfg;»-{“f;{" fi}a[‘ll"?’ai ':}Z’fv;&éw ;:32 i i,,m,fwfzj g ( ?

i 3 5 Y e s pafi “‘jj

%' }3/ ,’,& zﬁno{. T i"l"i‘-ﬁ’@ {f} ﬁgéé&‘? k"""#‘m"; 8w H m.*m;:w /AR

! s R

]

o n e T T

i
L LAY v T
, (13e ’émo!ﬁ« éfi&}( : ' ?ffé:m. Tl é ‘*“fg,% | e e
: R 4o &zﬁ% mwé‘@ ad - F «wﬂ“@&“"f,' e
i:? Lig - aafs Vg zmeb %*‘Ejs H ggfmgﬁﬂ Fras f’? ?;{{%}L
A i ‘?eﬁ'ﬁﬂj“m?“%?x%}i T ;i e 3.8 %
- ?m:@.’;@"@’ {5 " gwuaﬂm ;{:5? éé
g -

1r Taipel ﬁ’f?mo{;wi = fefy oviR (0, s T oexcess )
S ’j/d . . .

T £ Em é\:Q) Y . sy 5. £} S W @ 2t "!t }i
f;{:} .nam'_f;-'{,ﬁf{’,? L '*"f:rmv‘wp E ,,a i B G 1R Qw&}i»“" e
g, fen et _ < :

3.

W P P ; S Yy ~
s0.806 ‘zﬂm,w 0 2" é 41T ol 33% L F 026 0, Yetd e
gf“ﬁ Bm.— ¥ an b
= K P : ‘EW‘A
. Ef‘fw_w} L3229 o kg0, o 107 o, s
[+ N | EE.
“ g mfif‘:;‘f‘h -

s\ 01 Eml

i

e S Y 1 = Céﬁ '-




